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Prototype S

AFLOW prototype label A tI16 142 f-001

ICSD none

Pearson symbol tI16

Space group number 142

Space group symbol I41/acd

AFLOW prototype command aflow --proto=A_tI16_142_f-001

--params=a, c/a, x1

Other compounds with this structure
Se (Se-VII, prepared at 450K and 20 GPa)

• The S-III phase is found when sulfur is pressurized above 36 GPa at 300K. At 300K it is stable up to 83 GPa. This data
was taken at 12 GPa and 300K.
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8c ẑ (16f) S I

B7 = −
(
x1 − 7

8

)
a1 +

(
x1 + 5

8

)
a2 +

1
4 a3

= ax1 x̂− a
(
x1 − 1

4

)
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